N. MetaAidng Evloaywyni otn

MeOodoAoyia Tlpoypoppotiopod

Ewooywyn oty Java - Java interfaces/abstract classes

1. (1 Movédeg) Acsite tov axdérovbo xwdixa. Tt Bo TuTtoet;

Java

public class Person |
private String name;

public Person(String name) {
this .name = name;

}

public String getName() {
return name;
}
}

public class Main {
public static void main(String[] args) ({
Set<Person> persons = new HashSet<>();

new Person(”Nikos”);
new Person(”Nikos”);

Person personi =
Person person2 =
if (persont.equals(person2)) {

System.out. println ("They are the same”);
} else {

System.out. println (”They are not,the same”);

}
persons.add(person1);

if (persons.contains(person2)) {
System.out. println ("person2,is, contained in persons”);
} else {
System.out. println ("person2,is not,contained in persons”);

A’. They are the same
person2 is not contained in persons

B’. They are not the same
person2 is not contained in persons

I". They are the same
person?2 is contained in persons

A’. They are not the same
person?2 is contained in persons
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2. (1 Movédeg) 'Eotw 6t oANGLope ToV xdtxo »¢ eEAG:

public class Person {
private String name;

public Person(String name) {
this .name = name;

}

public String getName() {
return name;

}

@Override
public boolean equals(Object o) {
if (this == o) return true;

if (!(o instanceof Person)) return false;
Person person = (Person) o;
return Objects.equals(getName() , person.getName());

Av to tpéyope Ho TOTWVE:

A’. They are the same
person?2 is not contained in persons

B’. They are not the same
person?2 is not contained in persons

I. They are the same
person? is contained in persons

A’. They are not the same
person?2 is contained in persons
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3. (1 Movédeg) 'Eotw 6t oANGLope ToV xdtxo w¢ eEAG:

public class Person {
private String name;

public Person(String name) {
this .name = name;

}

public String getName() {
return name;

}

@Override
public boolean equals(Object o) {
if (this == o) return true;

if (!(o instanceof Person)) return false;
Person person = (Person) o;
return Objects.equals(getName() , person.getName());

}

@Override
public int hashCode() {

return Objects.hash(getName());

A’. They are the same
person?2 is not contained in persons

B’. They are not the same
person?2 is not contained in persons

I. They are the same
person2 is contained in persons

A’. They are not the same
person? is contained in persons
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. (1 Movédeg) KortdEre tov mopordtw xhdixa, mou mpoorabel vo apotpéost éva
oToLXelo amd pLor AloTo UE TPELS SLOPOPETLXOVS TPOTTOVG.

public class Main {
public static void main(String[] args) {
List<String> strings = new ArrayList<>();

strings .add(”One”);
strings .add("Two”) ;
strings.add(”Three”);
strings .add(”Four”);

strings.removelf(x —> x.equals("Two”));

System.out. println(strings);

for (Iterator<String> stringlterator = strings.iterator();stringlterator.
hasNext() ;) {
String item = stringlterator.next();
if (item.equals(”One”)) {
stringlterator.remove();
}
}

System.out. println(strings);

for ( Iterator<String> stringlterator = strings.iterator ();stringlterator.
hasNext() ;) {
String item = stringlterator.next();
if (item.equals(”Four”)) {
strings .remove(”Four”);
}
}

System.out. println(strings);

Av mpoomafovoape va Eavaopicovpe ™ pébodo doStatic() oty xAdom Omwg
xévope pe t doThisLater()

A’. Ko ou TpeLg TpdmoL elvot owoTtol
B’. H pébodocg otig yoapuég 14-20 Ha Bydier To pivopa

Exception in thread "main” java.util.ConcurrentModificationException
I". H pébodog otic yooppég 24-29 Oa Bydiel to punvopo

Exception in thread "main” java.util.ConcurrentModificationException

A. Koptlo pébodog dev eivar owot).
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5. (1 Movédeg) To Ty apyLxomoinoy pLog Aiotag Ho pmopodoape vo YenoLoTotL-

[

fioovpe Tt pébodo Arrays.asList(), To javadoc g omoiag givor owTo:

@SafeVarargs

public static <T> List<T> asList(T... a)

Returns a fixed-size list backed by the specified array.
(Changes to the returned list "write through” to the array.)

Parameters:

a - the array by which the list will be backed
Returns:

a list view of the specified array

[Toto a6 Tig TaPaXATL YEOUUES B TTETOYOLYVE TNV CPYLXOTTOINOY] TOL TTEONYOV-
UEVOL TTOPOSELYILOTOG;

strings
strings

Arrays.asList(new String[]{”One”, "Two”, “Three”, “Four”});
Arrays.asList(”One”, "Two”, “Three”, "Four”);

A’ Koplo

B’. H debtepn
[". Kow ot 3o
A, H mpw

6. (1 Movédeg) YAomoriote pLow otoifo yonotpomotdvtog éva ArrayList().
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7. (1 Movédeg) Abo xowécg vioTotoeLg pLog AMotag List otn Java eivar n ArrayList
xot M LinkedList Tt amé T mapaxdtw eivol owotd;

A

B

Av ouvBwg Taipvovpe otolyeio amd ouvyxexpipéveg Béoetg get(index)
elvor Yonyopdtepn n LinkedList, eved av apapodpue n ArrayList

Av cuvhfwg Tpoohétovpe otoryeio oty apyr add(0,.element) eiva o
popota M LinkedList, pe ™ ArrayList

. Av ouvBwg mtaipvovpe otoryeior amd ovyxexpLpéveg Béoeig get(index)

elvot Yonyopdtepn 1 ArrayList, eved av aparpodpe n LinkedList

. H @) xow (v)
E.

Koptla andavtnon ey eivar owot



